KERFREESHER KERESF)
ENI#ki (TEMAA)

2 Kk A% 8% E53

e OB EE aem ry o PHE &
BlE| B: % °c mg/| mg/| mg/| mg/| B
1[€] 8:42 8.4 43 74 12 0. 04 1.5 1.4 .8
21 £ 7:30 8.0 42 73 12 0.03 1.5 1.1 T
3|H 7:00 10.0 43 75 12 0.07 1.5 2.0 .4
41R 8:45 8.5 43 75 12 0.08 1.5 2.8 .4
5 (x| 8:48 1.9 42 66 13 <0. 03 1.2 0.7 .6
6 |7k|[ 8:51 8.6 40 68 11 0.03 1.7 1.4 .2
1[R[ 8:42 8.9 41 n 11 0.03 1.5 1.6 T
8|&| 8:43 9.8 42 77 12 0.04 1.6 2.2 .2
91 £| 6:50 10.0 40 70 11 0.04 1.4 2.2 .6
10| B 7:00 9.0 39 62 11 <0. 03 1.3 2.3 N
1118 8:47 9.1 39 69 12 0.03 1.5 2.1 .4
12 x| 8:47 9.8 42 75 14 <0. 03 1.5 0.1 .3
13[{K| 8:49 9.1 41 68 13 <0. 03 1.0 0.1 .0
14 K[ 8:50 9.5 41 65 14 <0. 03 7.1 0.1 T
15(£€| 8:51 10. 2 40 70 14 <0. 03 1.0 0.3 .2
16| £ 7:00 11.0 40 74 11 <0. 03 1.3 1.8 .6
171 B 7:10 10.5 39 75 11 <0. 03 1.4 1.7 .2
18| A 8:46 9.5 39 68 11 <0. 03 1.4 1.8 N
19k 8:43 9.2 41 78 11 <0. 03 1.3 2.1 T
20| k| 8:46 9.9 41 16 12 0.04 1.4 2.6 .3
21| K| 8:42 8.9 41 69 11 <0. 03 1.3 1.7 .2
22| & | 8:44 9.3 40 74 13 <0. 03 7.1 0.1 .4
23| | 7:00 10.5 41 75 11 <0. 03 1.3 1.9 .0
24| H 7:00 10.0 39 16 11 <0. 03 1.4 1.9 .0
25| A 9:06 9.9 40 78 12 0.03 1.4 2.1 T
26| K| 8:54 9.2 40 77 11 <0. 03 1.3 1.9 N
27| k| 8:45 10.1 41 75 11 <0. 03 1.5 1.8 T
28| K| 8:43 9.5 40 80 11 <0. 03 1.3 1.7 .3
29|&| 7:20 10.5 40 16 11 <0. 03 1.3 0.9 .3
30 ] 6:40 11.0 41 82 11 0.03 1.4 1.3 .8
T 15 — 9.5 41 13 12 <0. 03 1.4 .5 N
= = — 11.0 43 82 14 0.08 1.7 8 1
= & — 1.9 39 62 11 <0. 03 1.0
R




KEMHEERIR OKERES)

ENHkE (THEMAA) F %2345 3

7 K F-3:3 8% E53 WS w7

T I R BT T R I L T S TP
BlE| B: % °c mg/| mg/| mg/| mg/| B mg/| mg/|
1]1H 6:30 11.5 42 12 11 0.03 1.4 1.2 33.1
2| A 8:56 10.7 42 12 11 0.04 1.4 1.3 <0. 1 33.1
3[k] 6:50 11.5 42 73 11 0.03 1.3 1.3 33.7
41k 7:10 11.5 42 12 12 0.05 1.3 1.7 33.5
5[AK] 6:00 12.0 42 73 11 0.04 1.3 1.6 33.7
6 |€| 8:45 11.3 42 68 11 <0. 03 1.3 1.4 <0. 1 32.4
171X 7:00 12.0 41 69 11 0.04 1.4 1.4 32.2
81H 6:45 13.0 41 67 11 0.04 1.3 1.5 31.9
91A 8:47 11.8 41 70 11 0.04 1.4 1.5 <0. 1 31.9
10 A 8:40 13.4 41 70 11 0.03 1.3 1.3 <0. 1 32.6
11K 8:44 12. 4 41 73 11 0.04 1.3 1.4 <0. 1 33.5
12| ]| 8:44 12.3 41 12 11 0.05 1.3 1.5 <0. 1 33.0
13[£]| 8:44 11.6 41 12 11 0.04 7.1 1.3 <0. 1 32.7
141 £ 7:00 13.5 40 68 12 <0. 03 6.9 0.4 30.0
15| B 6:50 14.0 39 IA 13 <0. 03 6.8 0.2 27. 4
16| A 8:54 13.7 40 73 13 <0. 03 6.9 0.1 <0. 1 29.9
17| 8:44 12. 4 42 70 11 0.04 1.2 1.6 <0. 1 33.1
18K 8:51 12.8 43 16 11 0.06 1.2 1.7 <0. 1 32.3
19 K| 10:35 13.5 41 74 11 0.09 7.1 2.9 <0. 1 32.5
20| &| 8:42 12. 6 40 75 10 0.06 7.1 2.1 <0. 1 33.0
21| ] 6:50 13.0 40 73 10 <0. 03 1.2 1.4 32.3
22| H 6:40 13.0 40 78 11 0.04 1.2 2.1 32.2
23| A 8:48 11.3 40 77 11 0.03 1.2 2.1 <0. 1 32. 4
241 K| 8:43 12.9 42 74 11 <0. 03 1.4 1.2 <0. 1 31.8
25| k| 8:44 14.9 40 16 11 0.06 1.4 2.6 <0. 1 31.8
26| K| 8:52 14.7 40 77 11 0.04 1.5 2.1 <0. 1 31.7
27| &| 8:45 13.4 42 79 11 0.05 1.2 2.0 <0. 1 32.9
28| ] 6:30 14.5 40 74 11 0.06 1.3 1.8 32.0
29| H 6:45 16.0 39 16 13 <0. 03 6.9 0.2 28.9
30| A 8:52 15.8 38 79 14 <0. 03 1.0 0.1 <0. 1 27.3
31k 9:10 16.0 37 79 14 <0. 03 6.8 0.2 <0. 1 24.3
T 15 — 13.0 41 13 11 0.03 1.2 1.4 <0. 1 31.7
= = — 16.0 43 19 14 0.09 1.5 2.9 <0. 1 33.7
= & — 10.7 37 67 10 <0. 03 6.8 0.1 <0. 1 24.3
R




KERFREESHER KERESF)
ENI#ki (TEMAA)

2 Kk A% 8% E53

e OB EE aem ry o PHE
BlE| B: % °c mg/| mg/| mg/| mg/|
1]K[ 9:15 15.0 38 84 14 <0. 03 6.9 0. .6
2 (K| 8:44 13.4 40 84 13 <0. 03 1.0 0. T
3|&| 8:49 15.0 37 87 15 <0. 03 6.7 0. .8
41| 6:45 16.0 37 86 14 <0. 03 6.9 0. .8
51H 6:45 16.0 39 83 13 <0. 03 6.9 0. .9
6| A 8:49 14.7 39 90 13 <0. 03 6.9 0. .5
7| 8:46 15.9 39 88 13 <0. 03 1.0 0. T
8 [K| 9:04 15.5 38 86 13 <0. 03 7.1 0. .9
9 [AK]| 8:46 14.9 39 88 13 <0. 03 1.0 0. .4
10{£€| 8:46 14.9 39 89 13 <0. 03 1.0 0. .4
1M 7:15 16.0 39 82 11 <0. 03 1.4 0. .6
12| B 7:00 16.5 39 84 13 <0. 03 7.1 0. T
131 B 8:48 17.9 41 92 14 <0. 03 7.1 0. .6
14 k| 8:45 18.0 38 90 14 <0. 03 1.0 0. .2
15[k 8:45 19.6 38 93 13 <0. 03 1.0 0. .6
16| ][ 8:48 18.8 39 78 13 <0. 03 7.1 0. .0
17(£€| 8:47 18.3 41 16 13 <0. 03 7.1 0. .3
18| £ 7:00 20.0 40 88 16 <0. 03 6.9 0. .6
19| H 6:45 19.0 40 84 14 <0. 03 7.1 0. .2
20| A 8:44 16.0 41 82 13 <0. 03 6.9 0. T
211 K| 8:46 17.6 41 80 13 <0. 03 6.9 0. .0
22| k| 9:00 16. 2 38 83 12 <0. 03 6.9 0. .8
23| K| 8:45 17.9 38 84 10 0.04 1.2 1. .4
24| &| 8:45 16. 2 38 83 10 0.04 1.3 2. N
25| 6:45 19.0 39 79 11 0.04 1.2 1. .3
26| H 7:00 14.0 38 79 10 <0. 03 1.6 1. .3
2711 A 8:49 19.4 38 77 10 0.03 1.6 1. .8
28| K| 8:44 19.6 39 82 10 0.05 1.4 2. .4
29| k| 8:45 18.0 38 87 10 0.05 1.2 2. .0
30| K| 9:00 20.9 38 84 10 0.03 1.7 2. .2
T 15 — 17.0 39 84 12 <0. 03 1.1 0. .3
= = — 20.9 41 93 16 0.05 1.7 2 4
= & — 13. 4 37 16 10 <0. 03 6.7
R




KEMHEERIR OKERES)

EEKE  (TERK) k234 1H
g oK ERF S % HERETE
T e S P =R L B B " P9

BlE| B: % °c mg/| mg/| mg/| mg/| B mg/|

1[&| 8:45 22.0 39 72 10 0.04 1.7 2.3 <0.1 )
2 x| 6:30 19.0 39 72 10 0.03 1.2 1.7 .3
3|(H 7:00 22.0 39 70 10 <0.03 1.7 1.9 )
418 8:17 17.8 40 74 10 0.06 7.0 3.3 <0.1 .6
51k 8:50 12. 4 39 1A 1 0.06 6.9 1.9 0.2 1
6 |7K| 8:48 22.0 39 75 12 0.07 7.5 2.6 <0.1 A4
1[KR| 8:46 19.0 39 75 1 0.09 7.1 3.3 <0.1 .3
8|&| 8:45 12.7 39 78 1 <0.03 7.0 1.1 <0.1 .6
9 (x| 6:30 20.0 39 75 1 <0.03 7.3 1.5 .0

10| B 6:45 20.0 39 75 1 0.04 7.3 2.1 .9

1A 9:11 21.1 39 74 1 0.04 7.8 2.8 <0.1 )

12 k]| 8:49 22.4 39 72 1 0.04 7.5 2.0 <0.1 1

13]1 k| 8:41 22.6 39 74 1 0.05 7.6 2.3 <0.1 .0

14 K| 8:45 22.8 39 80 1 0.08 7.3 3.3 <0.1 .2

15|&| 8:44 23.5 39 75 1 0.07 7.5 2.9 <0.1 .5

16| 7:00 24.5 39 69 1 0.04 7.5 1.9 )

17| B 6:50 25.0 39 63 1 0.03 7.8 1.7 1

18| A 6:30 26.5 39 64 1 0.07 7.3 2.4 .0

19X 9:02 27.0 39 68 12 0.04 7.3 1.7 <0.1 A4

20| k| 9:04 25.3 36 65 14 <0.03 6.9 0.4 <0.1 1

21| K| 8:45 26.8 39 66 14 <0.03 7.0 0.2 <0.1 .9

22| €| 8:41 24.3 35 67 13 <0.03 6.8 0.3 <0.1 .0

231 | 6:45 25.5 39 1A 13 <0.03 7.0 0.2 .3

241 H 6:30 24.0 39 75 14 <0.03 7.0 0.2 .8

251 B 8:45 24.3 40 70 13 <0.03 7.1 0.1 <0.1 1

26| x| 9:00 25.3 39 74 16 <0.03 7.1 0.2 <0.1 1

27K 8:45 23.0 38 72 14 <0.03 7.0 0.1 <0.1 .2

28| K| 8:49 23.0 38 66 14 <0.03 7.0 0.1 <0.1 A4

29|€| 8:45 22.6 38 68 1 0.05 7.5 2.1 <0.1 .2

30) | 6:45 24.0 38 69 10 0.04 7.5 1.8 .5

311 H 6:50 26.0 39 70 14 <0.03 7.1 0.3 4

T 1 — 22.5 39 1 12 <0.03 7.3 1.6 <0.1 7

X & — 27.0 40 80 16 0.09 7.8 3.3 0.2 7

= K — 12. 4 35 63 10 <0.03 6.8 0.1 <0.1 .0

EI-




KERFREESHER KERESF)
ENI#ki (TEMAA)

2 Kk A% 8% E53
T Dy R HP S LA

BlE| B: % °c mg/| mg/| mg/| mg/| B

11A 8:50 24.7 39 78 16 <0. 03 1.0 0.1 .5
2 (k] 8:46 23.9 38 70 13 <0. 03 7.1 0.1 .2
3[K| 8:39 23.9 38 68 13 <0. 03 7.1 0.3 .5
4 [XK] 8:50 23.7 38 66 13 <0. 03 7.1 0.1 .9
51&| 8:40 24. 4 38 IA 12 0.07 1.4 2.5 .0
6 [£| 7:05 26.5 38 70 11 <0. 03 7.8 1.5 .8
118 9:00 25.5 38 IA 11 0.07 1.6 2.6 .9
8| A 8:45 24.8 39 75 12 0.07 1.3 2.7 T
9 (k] 8:50 24.8 43 74 14 <0. 03 1.0 0.1 .9
10{7K| 8:43 26.7 41 69 11 0.11 7.8 2.9 .0
K[ 8:42 26.3 40 69 11 0.09 1.7 2.6 N
12(£€| 8:55 27.5 40 69 11 0.07 8.0 2.2 N
13| £ 6:45 28.0 40 75 11 0.09 1.6 2.5 N
14| H 5:40 28.0 41 16 13 0.04 7.1 1.1 T
151 A 6:45 24.0 40 74 13 <0. 03 6.7 0.2 .2
16|k 7:00 26.0 40 79 13 <0. 03 1.0 0.2 .3
17({K| 9:22 25.7 40 16 13 <0. 03 1.0 0.2 .5
18| ][ 8:48 27.1 40 75 13 <0. 03 6.9 0.1 .3
19[{£€| 8:55 22.3 40 78 13 <0. 03 6.9 0.2 .8
200 ] 6:30 27.5 40 73 11 0.05 1.4 0.1 T
21| H 7:30 27.0 40 IA 13 <0. 03 1.0 0.1 T
22| A 8:43 27.1 40 73 13 <0. 03 7.1 0.2 .2
23| K| 8:50 27.3 40 83 13 <0. 03 7.1 0.5 .6
24| k| 8:45 27.5 40 77 13 <0. 03 1.0 0.1 .3
25| K| 8:40 26.5 39 79 13 <0. 03 1.0 0.4 .8
26| & | 8:45 21.5 39 75 11 0.05 1.4 1.5 T
21|\ 7:20 28.0 39 77 11 0.03 1.5 1.2 .3
28| H 6:55 28.0 43 80 12 0.03 1.2 1.1 .5
29| A 8:48 27.8 41 83 12 0.05 1.4 1.6 .0
30] k| 8:39 27.6 41 84 15 <0. 03 6.8 0.1 .5
31 k| 8:42 27.8 40 85 14 <0. 03 6.9 0.1 .3
T 15 — 26.0 40 15 13 <0. 03 1.2 0.9 .6
= = — 28.0 43 85 16 0.11 8.0 2.9 N
= & — 21.5 38 66 11 <0. 03 6.7 0.1 .9
R




KERFREESHER KERESF)
ENI#ki (TEMAA)

2 Kk A% 8% E53

T Dy R HP S LA
BlE| B: % °c mg/| mg/| mg/| mg/| B
1| KR|[ 8:40 27.3 40 IA 13 <0. 03 1.0 0.1 .5
2| £| 8:41 27.8 39 12 11 <0. 03 1.4 1.0 .4
3[£| 6:50 27.5 40 70 12 <0. 03 1.3 0.7 N
41H 6:30 26.5 38 70 13 <0. 03 1.0 0.2 .5
5|1A 8:40 23.9 35 70 13 <0. 03 6.7 0.3 .2
6 [ x| 8:42 24.6 39 70 14 <0. 03 6.8 0.1 .4
7[K|[ 8:46 24. 4 39 80 14 <0. 03 6.8 0.1 T
8[| 8:40 24.2 38 75 13 <0. 03 6.9 0.1 .0
9|&| 8:47 24.2 38 16 14 <0. 03 6.8 0.1 .4
10| £ 6:30 25.0 38 74 14 <0. 03 6.8 0.2 .2
111 8 6:40 25.0 38 77 14 <0. 03 6.7 0.1 .6
12| B 8:55 23.7 38 80 14 <0. 03 6.7 0.1 .8
13| k| 8:45 24.1 39 79 15 <0. 03 6.7 0.1 .8
14K 8:42 24.2 38 16 13 <0. 03 6.8 0.1 .5
15| K[ 8:40 24.6 39 73 13 <0. 03 6.9 0.1 .9
16(€| 8:41 24.9 39 74 13 <0. 03 6.9 0.1 .5
171 £ 6:50 26.0 39 77 13 <0. 03 6.9 0.1 .5
18| H 6:40 26.2 38 16 16 <0. 03 6.7 0.2 .3
191 A 6:30 26.0 40 12 15 <0. 03 6.7 0.2 .5
200 K] 9:16 24.3 38 IA 15 <0. 03 6.8 0.2 .4
21| k| 8:47 24.8 37 74 14 <0. 03 6.9 0.1 .9
22| K| 9:01 23.8 34 75 15 <0. 03 6.6 0.3 .2
23| &| 6:30 24.0 36 16 14 <0. 03 6.8 0.2 .6
24| ] 6:35 23.0 37 77 14 <0. 03 6.9 0.1 .6
25| H 6:30 23.0 37 82 14 <0. 03 6.9 0.2 .0
26| A 8:45 22.5 39 80 13 <0. 03 6.9 0.1 .8
271 k| 8:16 22.2 37 79 13 <0. 03 6.9 0.2 .9
28| k| 8:46 22.2 38 78 13 <0. 03 1.0 0.1 .5
29] K| 8:39 22.2 38 81 13 <0. 03 1.0 0.1 .5
30| & 8:42 22.7 38 78 12 <0. 03 7.1 0.1 .0
T 15 — 24.5 38 15 14 <0. 03 6.9 .0
= = — 27.8 40 82 16 <0. 03 1.4 4
= & — 22.2 34 70 11 <0. 03 6.6
R




KEMHEERIR OKERES)

ENHkE (THEMAA) F 5423410
7 K F-3:3 8% E53 WS w7
T I R BT T R I L T S TP
BlE| B: % °c mg/| mg/| mg/| mg/| B mg/| mg/|
1]1xX] 6:45 23.0 37 74 14 <0. 03 1.0 0.1 28.2
21H 7:00 22.0 38 69 13 <0. 03 7.1 0.1 29.8
3| A 8:45 21.1 38 69 12 <0. 03 7.1 0.1 <0. 1 30.0
4 (k] 8:45 20.5 38 66 12 <0. 03 7.1 0.1 <0. 1 29.4
5 17K|[ 8:41 20.8 38 61 12 0.04 1.4 2.0 <0. 1 30.9
6 A 8:39 20.6 38 67 10 0.05 1.5 2.3 <0. 1 31.2
1€ 9:05 20.5 40 68 10 0.07 1.6 1.9 <0. 1 31.8
8£| 7:00 21.5 40 67 12 0.03 1.2 0.8 28.9
91H 6:50 21.0 39 12 13 <0. 03 7.1 0.2 28.8
101 A 6:00 21.0 39 61 10 0.06 1.6 1.7 31.5
1| 8:38 20.3 39 65 10 0.06 1.6 2.0 <0. 1 31.2
12({K| 8:42 20. 4 39 67 11 0.05 1.7 1.6 <0. 1 31.5
13| K| 8:44 20.2 39 66 11 0.06 1.6 2.1 <0. 1 31.2
14(£€| 8:40 20.0 39 69 11 0.07 1.5 2.1 <0. 1 31.9
15| £ 6:30 21.0 39 64 10 0.06 1.5 1.4 32.0
16| B 6:40 21.0 39 IA 11 0.04 1.5 1.0 31.3
171 B 8:40 19.8 38 75 14 <0. 03 6.9 0.1 <0. 1 28.6
18| k| 8:45 19.8 38 77 13 <0. 03 1.0 0.1 <0. 1 29.0
19{K| 8:43 19.4 38 74 13 <0. 03 1.0 0.1 <0. 1 28.6
20| K| 8:41 19.3 38 73 13 <0. 03 1.0 0.1 <0. 1 29.3
21| & 8:45 19.6 41 12 13 <0. 03 7.1 0.1 <0. 1 29.6
22| | 6:40 21.0 40 75 13 <0. 03 7.1 0.1 29.0
23| H 7:12 21.5 40 75 13 <0. 03 7.1 0.1 28.9
24| A 8:42 19.8 40 75 15 <0. 03 6.9 0.2 <0. 1 28.4
25| K| 8:39 19.8 40 75 16 <0. 03 1.0 0.1 <0. 1 28.6
26| k| 8:40 19.0 39 78 13 <0. 03 1.0 0.1 <0. 1 28.8
27| K| 8:41 18.6 40 16 13 <0. 03 1.3 1.5 <0. 1 30.3
28| & 8:41 18.3 39 73 9.4 0.07 1.6 2.6 <0. 1 32. 4
29| | 6:45 19.0 39 IA 12 <0. 03 7.1 0.2 29.2
30| H 6:45 19.0 40 77 12 <0. 03 7.1 0.1 29.8
311 A 8:41 18.5 39 16 12 <0. 03 1.1 0.0 <0. 1 29.5
T 15 — 20.2 39 A 12 <0. 03 1.2 0.8 <0. 1 30.0
= = — 23.0 41 18 16 0.07 1.7 2.6 <0. 1 32.4
= & — 18.3 37 61 9.4 <0. 03 6.9 0.0 <0. 1 28.2
R




KEMHEERIR OKERES)

ENHkE (THEMAA) 4234115
7 K F-3:3 8% E53 WS w7
T I R BT T R I L T S TP
BlE| B: % °c mg/| mg/| mg/| mg/| B mg/| mg/|
1|k 8:47 18.3 41 69 13 <0. 03 7.1 0.1 <0. 1 29.8
2 || 8:40 18.3 40 65 13 <0. 03 7.1 0.1 0.1 29.2
3R] 6:45 19.0 40 68 13 <0. 03 7.1 0.1 29.8
41€| 8:42 18.3 40 IA 14 <0. 03 7.1 0.2 <0. 1 29.8
51£( 7:00 19.0 40 66 13 <0. 03 7.1 0.1 29.2
6H 6:30 19.5 40 68 13 <0. 03 1.0 0.1 29.1
118 8:49 18.3 41 70 14 <0. 03 1.0 0.1 <0. 1 30.2
8 x| 8:47 17.9 40 69 13 <0. 03 7.1 0.1 <0. 1 29.5
9 |k| 8:47 17.4 40 67 10 0.05 1.7 2.0 <0. 1 32.3
10| R 8:45 17.4 40 69 10 0.08 1.7 2.2 <0. 1 32.5
1€ 8:42 17.2 39 64 10 0.04 1.6 1.8 <0. 1 32.0
12| £ 6:30 18.0 40 67 10 0.06 1.7 1.8 32.0
13| B 7:00 18.0 40 67 10 0.05 1.6 1.4 32.6
141 B 8:46 17.0 40 IA 10 0.06 1.7 2.3 <0. 1 32. 4
15 k| 8:54 16. 3 40 68 10 0.07 1.7 2.7 <0. 1 32.6
16({7K| 8:44 16. 6 40 65 10 0.04 1.6 1.8 <0. 1 32.7
17| ][ 8:48 15. 6 40 67 10 0.07 1.6 2.5 <0. 1 32.8
18[£| 8:43 15.8 40 63 9.9 0.05 1.6 2.1 <0. 1 32. 4
191 £ 21:00 17.0 39 69 9.9 0.04 1.6 1.8 32.7
200 B | 20:40 17.0 40 66 10 0.04 1.6 1.7 32.6
211 A 8:45 15. 6 40 70 13 <0. 03 1.2 0.7 <0. 1 30.0
221 K| 8:41 14.9 40 68 10 0.08 1.6 2.9 <0. 1 33.0
23| k| 21:00 16.0 39 66 10 0.03 1.6 1.6 32.3
241 K| 8:41 14.8 40 65 10 <0. 03 7.8 1.4 <0. 1 31.8
25| & 8:39 14.0 40 IA 10 0.06 1.5 2.2 <0. 1 31.5
26| | 20:45 15.0 40 IA 10 0.03 1.7 1.7 32.8
27{8] 21:30 15.0 41 66 10 0.03 1.7 1.7 32.0
28| A 8:45 14.1 41 66 10 0. 04 1.7 1.8 <0. 1 32. 4
29| K| 8:40 14.2 40 73 10 0.04 1.7 1.8 <0. 1 32.0
30| k| 8:55 14.1 40 67 10 0.03 1.7 1.7 0.1 31.9
T 15 — 16.7 40 68 11 0.03 1.5 1.4 <0. 1 31.5
= = — 19.5 41 13 14 0.08 1.8 2.9 0.1 33.0
= & — 14.0 39 63 9.9 <0. 03 1.0 0.1 <0. 1 29. 1
R




KEMHEERIR OKERES)

ENHkE (THEMAA) F 54234125

7 K F-3:3 8% E53 WS w7

T I R BT T R I L T S TP
BlE| B: % °c mg/| mg/| mg/| mg/| B mg/| mg/|
1| K[ 8:45 14.1 41 67 9.9 0.05 1.7 1.9 <0. 1 32.6
2 |&| 8:40 14.0 41 70 10 0.04 1.7 1.5 <0. 1 32.8
3[£| 21:00 14.5 41 69 10 0.03 1.9 1.2 32.6
418 21:00 14.5 41 69 13 <0. 03 1.2 0.3 29.4
5|1A 8:44 13.2 42 73 14 <0. 03 1.2 0.1 <0. 1 29.8
6 [ x| 8:40 12. 4 41 12 13 <0. 03 1.2 0.1 <0. 1 29.8
7(K| 8:45 12.1 41 70 13 <0. 03 1.2 0.1 0.1 30.5
8 [AKR]| 8:47 12.8 41 70 10 0.03 1.6 1.5 0.1 32.7
9|%&| 8:51 12.0 41 73 12 0.04 1.3 1.1 <0. 1 31.3
10l £ 21:10 12.5 40 74 11 0.08 7.8 3.0 33.5
1M H| 20:55 12.0 40 69 11 0.10 1.7 3.5 33.7
12| B 8:39 11.2 40 74 10 0.08 1.6 2.9 <0. 1 33.2
13 k| 8:52 10.9 41 12 10 0.05 1.6 2.1 <0. 1 32.6
14 K| 8:57 10.9 41 69 10 0.04 1.7 1.7 0.2 32.8
15| K[ 8:52 10.1 40 66 10 0.03 1.7 1.4 0.1 32.6
16[{%€| 8:52 10.7 40 68 10 0.05 1.6 2.3 <0. 1 32.7
171 £ 20:40 12.0 42 64 10 0.05 1.6 1.6 31.7
18| B[ 21:20 11.0 41 66 10 0.05 1.6 1.6 31.6
191 A 8:53 9.8 42 67 11 0.03 1.3 0.9 <0. 1 31.6
20 k| 8:51 10.0 42 66 10 0.04 1.6 1.4 <0. 1 32. 4
21| k| 9:05 9.8 42 70 10 0.03 1.6 1.3 0.1 32.2
22| K| 8:50 9.9 41 64 10 <0. 03 1.7 1.1 0.1 32.5
23| €| 21:00 11.0 41 65 10 0.03 1.7 1.3 32.6
24| £ 21:10 10.5 41 67 10 0.03 1.7 1.5 32.3
25| B 21:00 10.0 41 66 10 <0.03 1.3 0.6 31.5
26| A 8:52 8.8 41 68 10 <0. 03 1.6 1.4 0.1 32.0
271 K| 8:48 8.9 41 68 10 0.04 1.6 1.5 <0. 1 32.2
28| k| 8:50 8.8 41 70 10 0. 04 1.5 1.4 <0. 1 32.6
29| K[ 20:50 10.0 41 69 10 <0.03 1.5 0.9 32.3
30[&| 21:10 10.0 41 67 10 <0.03 1.5 1.0 32.0
31{£] 19:40 9.5 40 68 10 <0. 03 1.5 1.1 32.1
T 15 — 11.2 41 69 11 0.03 1.5 1.4 <0. 1 32.1
= = — 14.5 42 14 14 0.10 1.9 3.5 0.2 33.7
= & — 8.8 40 64 9.9 <0. 03 1.2 0.1 <0. 1 29.4
R




KEMHEERIR OKERES)

ENHkE (THEMAA) F 24417

7 K F-3:3 8% E53 WS w7

T I R BT T R I L T S TP
BlE| B: % °c mg/| mg/| mg/| mg/| B mg/| mg/|
118] 20:30 10.0 41 67 10 <0. 03 1.4 0.9 32.3
2|1 A] 21:00 9.5 41 65 10 <0. 03 1.4 1.1 32.6
3| 18:40 9.2 41 69 10 0.04 1.5 1.5 32.3
417K 8:45 8.0 41 69 10 0.04 1.4 1.6 <0. 1 32.8
5[A&] 8:43 1.9 41 68 10 <0. 03 1.5 1.4 <0. 1 33.4
6 |€| 8:43 8.0 42 73 10 0.03 1.5 1.2 <0. 1 32.6
11X 20:45 9.3 41 69 10 <0. 03 1.5 0.8 32. 4
88| 21:00 9.0 41 IA 10 0.03 1.5 0.8 32.7
91A] 21:00 9.0 41 70 10 0. 04 1.5 1.2 32.7
10|k 8:43 1.3 41 12 10 0.05 1.5 1.9 <0. 1 33.3
117K 8:55 8.0 41 67 10 0.04 1.5 1.2 <0. 1 32.2
12| ][ 8:52 1.3 40 70 10 0.04 1.5 1.4 <0. 1 33.3
13[£| 8:38 1.6 40 n 10 <0. 03 1.5 1.1 <0. 1 32.1
141 £ 20:40 8.5 41 70 10 0.03 1.5 1.1 32.5
15| B[ 21:00 8.8 40 67 10 <0. 03 1.5 1.1 32.0
16| A 8:50 1.6 40 66 10 <0. 03 1.4 1.2 <0. 1 31.6
171 & 8:50 1.3 41 66 10 <0. 03 1.4 1.1 <0. 1 32.5
187k | 8:50 1.3 41 66 10 <0. 03 1.4 1.3 <0. 1 32.3
19 K| 8:44 1.2 40 69 10 <0. 03 1.4 1.2 <0. 1 32.3
20| & 8:47 1.3 40 66 10 <0. 03 1.4 1.2 <0. 1 32.2
21| ] 21:00 8.0 41 66 12 <0. 03 1.4 0.8 32.7
22| 8] 20:30 9.0 40 67 11 <0. 03 1.4 0.8 32.3
23| A 8:55 1.6 41 70 11 0.04 1.4 1.3 <0. 1 32.0
241 K| 8:52 1.3 41 70 11 0.03 1.4 1.6 <0. 1 32.2
25| k| 8:52 7.0 41 69 11 0.05 1.4 1.7 <0. 1 32.0
26| K| 8:49 6.6 41 62 11 0.05 1.4 1.7 <0. 1 32.8
27| &| 8:50 6.6 41 70 11 <0. 03 1.4 1.4 <0. 1 32.6
28| £ | 20:40 8.0 41 68 10 0.03 1.4 0.9 32.0
29{ 8] 21:00 1.5 40 69 11 0.03 1.5 1.0 32.7
30| A 8:40 6.3 41 69 10 0.03 1.5 1.3 <0. 1 33.0
31 :k| 8:48 6.3 41 67 10 0.04 1.5 1.5 <0. 1 32.6
T 15 — 1.9 41 68 10 <0. 03 1.4 1.2 <0. 1 32.5
= = — 10.0 42 13 12 0.05 1.5 1.9 <0. 1 33.4
= & — 6.3 40 62 10 <0. 03 1.4 0.8 <0. 1 31.6
R




KERFREESHER KERESF)
ENI#ki (TEMAA)

2 Kk A% 8% E53

e OB EE aem ry o PHE
BlE| B: % °c mg/| mg/| mg/| mg/|
1]k[ 8:40 5.7 40 74 11 0.05 1.5 1.
2 (K] 841 5.6 40 70 11 0.05 1.4 1.
3|&| 8:41 5.6 39 n 10 0.05 1.5 1.
41£[ 21:00 7.0 39 74 12 <0. 03 1.2 0.
518 21:00 1.5 39 75 11 <0. 03 1.4 1.
6| A 8:40 6.3 39 73 10 <0. 03 1.4 1.
1| 8:41 6.3 39 12 10 <0. 03 1.4 1.
8[| 8:55 6.3 39 12 10 0.05 1.4 1.
9 [A] 8:50 5.6 39 79 12 0.05 7.1 1.
10{£€| 8:40 5.7 39 77 11 0.06 1.4 2.
1M £ 21:00 7.0 41 IA 11 0.05 1.4 1.
12| B[ 21:00 1.5 41 73 11 0.05 1.4 1.
131 B 8:50 6.0 41 77 11 0.05 1.4 1.
14 k| 8:42 6.0 41 75 11 0. 04 1.4 1.
15[k | 8:52 6.3 41 75 11 0.05 1.4 1.
16| ][ 8:39 5.7 40 73 11 0.04 1.5 1.
17(£€| 8:40 5.7 41 74 11 0.04 1.5 1.
18] £ 21:00 6.5 42 75 11 0.07 1.5 2.
191 B[ 21:00 7.0 41 74 11 <0. 03 1.4 1.
20| A 8:45 5.3 41 73 11 0.03 1.3 1.
21 k| 8:40 5.7 41 12 11 0. 04 1.5 1.
22| k| 8:41 5.3 41 12 11 0. 04 1.4 2.
23| K| 8:53 6.1 41 73 12 0.04 1.5 1.
24| & 8:41 6.1 43 74 11 0.05 1.5 1.
25| ] 21:00 1.5 42 74 12 0.08 1.5 2.
26| B8] 21:00 1.5 43 79 14 <0. 03 1.0 0.
2711 A 8:41 6.1 43 79 15 <0. 03 6.9 0.
28| K| 8:48 5.7 42 75 14 <0. 03 1.0 0.
29| k| 8:48 6.0 42 74 10 0.07 1.5 2.
T 15 — 6.2 41 14 11 0.04 1.4
= = — 1.5 43 19 15 0.08 1.5
= & — 5.3 39 10 10 <0. 03 6.9
R




KERFREESHER KERESF)
ENI#ki (TEMAA)

2 Kk A% 8% E53
e OB EE aem ry o PHE

BlE| B: % °c mg/| mg/| mg/| mg/|

1| K[ 8:52 6.1 43 79 14 <0. 03 1.0 0.2 .6
2| €| 8:42 6.1 42 73 11 0.07 1.5 2.6 .4
3[£| 21:00 8.0 42 75 11 0.07 1.5 2.2 .9
41H 8:30 1.7 42 74 11 0.07 1.5 2.7 .3
5|1A 8:55 6.7 42 n 11 0.10 1.6 3.2 T
6 [X] 8:39 6.6 41 n 11 0.06 1.5 2.3 .8
7[K([ 8:43 1.3 40 79 17 <0. 03 6.7 0.3 .5
8[| 8:40 6.7 41 67 11 0.04 1.2 1.8 .5
91&| 8:39 7.0 41 70 14 0.03 6.9 0.1 .2
10| 8:45 8.5 43 74 14 <0. 03 6.9 0.1 .2
1118 21:10 8.5 41 77 16 <0. 03 6.8 0.2 T
12| B 8:46 6.4 40 81 18 <0. 03 6.8 0.1 .6
13 k| 8:40 6.7 41 73 15 <0. 03 6.9 0.1 .4
14K 8:43 6.9 41 73 15 <0. 03 6.9 0.1 .2
15| K[ 8:38 7.0 41 68 14 <0. 03 6.9 0.1 .6
16| 8:44 7.0 41 73 14 <0. 03 1.0 0.2 .4
171 £ 21:00 8.0 41 73 11 0.07 1.5 2.0 .5
18| H| 21:00 8.0 41 12 11 0.06 1.4 1.8 .4
191 A 8:39 1.3 41 73 11 0.07 1.5 2.0 .6
20| A 21:00 8.2 41 74 11 0.07 1.7 2.1 .3
21| k| 8:41 1.9 42 77 11 0.09 1.5 2.4 T
22| K| 8:40 1.6 42 16 11 0.08 1.5 2.5 .8
23| & 8:39 1.3 41 12 10 0.04 1.5 1.8 .8
24| £ 21:00 9.0 43 84 14 0.12 1.5 2.4 .5
25| B 20:40 9.2 42 83 16 <0. 03 7.1 0.4 .0
26| A 8:50 1.6 41 78 12 0.07 1.5 2.4 .0
271 k| 8:50 1.6 41 78 12 0.05 1.6 1.8 T
28| k| 8:36 1.4 41 70 10 0.05 1.6 1.8 T
29] K| 8:49 7.8 41 81 12 0.11 1.6 2.5 .5
30| & 8:39 8.0 41 74 11 0.06 1.7 2.2 .5
31 £ ] 20:45 9.2 40 12 11 0.04 1.7 1.6 .6
T 15 — 1.5 41 15 13 0.05 1.3 1.5 .3
= = — 9.2 43 84 18 0.12 1.7 3.2 .8
= & — 6.1 40 67 10 <0. 03 6.7 0.1 .5
R




